} %oo @ a optellen van breuken (dezelfde noemer)

Naam: Datum: Score:
I 1 7 7
4+ - = — 4 — =
4 4 8 8
1 6 2 7
4+ - = — 4 — =
9 9 9 9
§_|__7_: 114_1}_:
5 5 6 6
2 7 3 1
8 8 8 8
5 2 6 2
g “+15=
9 9 4 4
5 3 2 2
4 4 5 5
4 1 1 4
-+ = = — 4+ — =
7 7 5 5
6 4 2 5
- = 12 +=- =
8 8 3 3
3 1 7 1
1=+ - = L4 =
4 4 9 9
4 1 4 5
-+ - = — 4 — =
6 6 6 6

www.snowmath.com


https://www.snowmath.com

} %3 @ a optellen van breuken (dezelfde noemer)

Naam: Datum: Score:
1 1 1 7 7 3
= S =— =12
4 4 2 8 8 4 4
1 6 7 2 7
oy = Zri=1
9 9 9 9 9
6,.7_13_3 L7
5 5 5 75 6 6 3 73
2 7 9 1 3 1 1
S =2=1- 4=
8 &8 8 8 g8 8 2
5 2 7 6 2
Sif=l —4+12=3
9 9 9 4 4
5 3 2 2 4
“+I=2 4=
4 4 5 5 5
4 1 5 1 4
—+ - == —+-==1
77 5 5
6 4 5 1 2 5 10 |
S 1242 =—=3-
8 8 4 4 3 3 3 3
3 1 7 1 8
4+ = -+ - ==
14 4 2 9 9 9
4 1 5 4 5 3 |
o=z —4+Z==1=
6 6 6 6 6 2 2

www.snowmath.com


https://www.snowmath.com

